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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.836 ±Constant = 16.96 

 0.133 ±Mean     = 137.9 

 0.09407 ±Sigma    = 1.505 
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 0.09407 ±Sigma    = 1.505 
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 1.802 ±Constant = 16.65 
 0.1355 ±Mean     = 137.2 

 0.09584 ±Sigma    = 1.533 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 1.779 ±Constant = 16.43 

 0.1373 ±Mean     =   137 

 0.0971 ±Sigma    = 1.554 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.998 ±Constant = 18.46 

 0.1223 ±Mean     = 138.3 
 0.08646 ±Sigma    = 1.383 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 2.029 ±Constant = 18.74 

 0.1204 ±Mean     = 137.7 
 0.08513 ±Sigma    = 1.362 
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 2.029 ±Constant = 18.74 
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Vt50 (mV)90 100 110 120 130 140 150 160 170 180

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

16

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.694 ±Constant = 15.65 

 0.1442 ±Mean     = 137.1 
 0.102 ±Sigma    = 1.632 
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 0.102 ±Sigma    = 1.632 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.307 ±Constant = 21.31 
 0.1059 ±Mean     = 50.13 
 0.07488 ±Sigma    = 1.198 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.152 ±Constant = 19.88 
 0.1135 ±Mean     = 48.92 
 0.08028 ±Sigma    = 1.285 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.344 ±Constant = 21.65 
 0.1042 ±Mean     = 49.71 
 0.0737 ±Sigma    = 1.179 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.783 ±Constant = 25.71 

 0.08777 ±Mean     = 49.45 

 0.06206 ±Sigma    = 0.993 

Chip 3 Gain at 2.00fC Nent = 128    
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Chip 4 Gain at 2.00fC Nent = 128    
 2.597 ±Constant = 23.99 

 0.09407 ±Mean     = 49.06 

 0.06652 ±Sigma    = 1.064 
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 2.597 ±Constant = 23.99 

 0.09407 ±Mean     = 49.06 

 0.06652 ±Sigma    = 1.064 
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Chip 5 Gain at 2.00fC Nent = 128    
 1.959 ±Constant =  18.1 
 0.1247 ±Mean     = 49.54 

 0.08818 ±Sigma    = 1.411 

Chip 5 Gain at 2.00fC Nent = 128    
 1.959 ±Constant =  18.1 
 0.1247 ±Mean     = 49.54 

 0.08818 ±Sigma    = 1.411 
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Chip 0 Extrapolated Offset Nent = 128    

 4.855 ±Constant = 44.84 

 0.161 ±Mean     = 37.47 
 0.1139 ±Sigma    = 1.822 
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Chip 1 Extrapolated Offset Nent = 128    

 4.641 ±Constant = 42.87 

 0.1685 ±Mean     = 39.03 
 0.1191 ±Sigma    = 1.906 
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  5.01 ±Constant = 46.28 

 0.156 ±Mean     = 37.32 
 0.1103 ±Sigma    = 1.765 
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  5.01 ±Constant = 46.28 
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 0.1103 ±Sigma    = 1.765 
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Chip 3 Extrapolated Offset Nent = 128    

 5.617 ±Constant = 51.89 
 0.1392 ±Mean     = 38.04 
 0.09841 ±Sigma    = 1.575 
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 0.09841 ±Sigma    = 1.575 
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Chip 4 Extrapolated Offset Nent = 128    

 4.769 ±Constant = 44.05 
 0.1639 ±Mean     = 38.34 
 0.1159 ±Sigma    = 1.855 

Chip 4 Extrapolated Offset Nent = 128    

 4.769 ±Constant = 44.05 
 0.1639 ±Mean     = 38.34 
 0.1159 ±Sigma    = 1.855 
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Chip 5 Extrapolated Offset Nent = 128    

 4.742 ±Constant = 43.81 
 0.1649 ±Mean     = 37.29 
 0.1166 ±Sigma    = 1.865 

Chip 5 Extrapolated Offset Nent = 128    

 4.742 ±Constant = 43.81 
 0.1649 ±Mean     = 37.29 
 0.1166 ±Sigma    = 1.865 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.293 ±Constant = 39.66 

 3.794 ±Mean     =  1744 

 2.682 ±Sigma    = 42.92 
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 4.293 ±Constant = 39.66 

 3.794 ±Mean     =  1744 

 2.682 ±Sigma    = 42.92 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 5.368 ±Constant = 49.59 

 3.034 ±Mean     =  1785 

 2.145 ±Sigma    = 34.32 
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 5.368 ±Constant = 49.59 

 3.034 ±Mean     =  1785 

 2.145 ±Sigma    = 34.32 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.237 ±Constant = 39.14 

 3.844 ±Mean     =  1691 

 2.718 ±Sigma    = 43.49 
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 4.237 ±Constant = 39.14 

 3.844 ±Mean     =  1691 

 2.718 ±Sigma    = 43.49 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.797 ±Constant = 44.31 
 3.395 ±Mean     =  1700 
 2.401 ±Sigma    = 38.41 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 4.544 ±Constant = 41.97 
 3.585 ±Mean     =  1695 
 2.535 ±Sigma    = 40.55 
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 4.544 ±Constant = 41.97 
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 2.535 ±Sigma    = 40.55 
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 3.807 ±Constant = 35.16 
 4.279 ±Mean     =  1701 
 3.025 ±Sigma    = 48.41 

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.807 ±Constant = 35.16 
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 3.025 ±Sigma    = 48.41 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.936 ±Constant = 17.88 

 0.1262 ±Mean     = 136.8 

 0.08924 ±Sigma    = 1.428 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.936 ±Constant = 17.88 

 0.1262 ±Mean     = 136.8 

 0.08924 ±Sigma    = 1.428 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.804 ±Constant = 16.66 

 0.1354 ±Mean     = 137.3 

 0.09576 ±Sigma    = 1.532 
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 1.804 ±Constant = 16.66 

 0.1354 ±Mean     = 137.3 

 0.09576 ±Sigma    = 1.532 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 1.609 ±Constant = 14.86 

 0.1519 ±Mean     = 139.3 

 0.1074 ±Sigma    = 1.718 
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 1.609 ±Constant = 14.86 

 0.1519 ±Mean     = 139.3 

 0.1074 ±Sigma    = 1.718 
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Chip 3 Vt50 at 2.00fC Nent = 128    
  1.64 ±Constant = 15.15 

 0.149 ±Mean     = 138.5 
 0.1053 ±Sigma    = 1.685 
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  1.64 ±Constant = 15.15 

 0.149 ±Mean     = 138.5 
 0.1053 ±Sigma    = 1.685 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.4921 ±Constant = 4.419 

 0.4965 ±Mean     = 134.2 
 0.3511 ±Sigma    = 5.461 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.4921 ±Constant = 4.419 

 0.4965 ±Mean     = 134.2 
 0.3511 ±Sigma    = 5.461 
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Chip 5 Vt50 at 2.00fC Nent = 128    
  1.56 ±Constant = 14.41 

 0.1566 ±Mean     = 138.9 
 0.1108 ±Sigma    = 1.772 
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  1.56 ±Constant = 14.41 

 0.1566 ±Mean     = 138.9 
 0.1108 ±Sigma    = 1.772 
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 2.862 ±Constant = 26.44 
 0.08535 ±Mean     = 49.11 

 0.06035 ±Sigma    = 0.9656 
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 2.862 ±Constant = 26.44 
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 0.06035 ±Sigma    = 0.9656 
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 2.063 ±Constant = 19.06 
 0.1184 ±Mean     = 50.71 
 0.08374 ±Sigma    =  1.34 
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 2.384 ±Constant = 22.02 
 0.1025 ±Mean     = 50.35 

 0.07245 ±Sigma    = 1.159 
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 0.2349 ±Constant = 2.169 

 1.041 ±Mean     = 44.72 

 0.739 ±Sigma    = 11.77 
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 1.999 ±Constant = 18.47 

 0.1222 ±Mean     =  50.2 

 0.0864 ±Sigma    = 1.382 
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 5.324 ±Constant = 49.18 
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 4.715 ±Constant = 43.55 
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 5.529 ±Constant = 51.08 
 0.1414 ±Mean     = 36.82 

 0.09997 ±Sigma    =   1.6 
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 5.075 ±Constant = 46.88 
 0.154 ±Mean     = 37.28 
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 5.814 ±Constant = 53.71 
 2.801 ±Mean     =  1698 

 1.981 ±Sigma    = 31.69 
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 4.468 ±Constant = 41.27 

 3.645 ±Mean     =  1701 

 2.577 ±Sigma    = 41.24 
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 3.707 ±Constant = 34.24 

 4.394 ±Mean     =  1677 

 3.107 ±Sigma    = 49.71 

Chip 2 Input Noise at 2.00fC Nent = 128    
 3.707 ±Constant = 34.24 

 4.394 ±Mean     =  1677 

 3.107 ±Sigma    = 49.71 
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 3.879 ±Constant = 35.83 
 4.199 ±Mean     =  1704 
 2.969 ±Sigma    = 47.51 
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 0.5155 ±Constant = 4.674 

 32.81 ±Mean     =  1501 
 23.89 ±Sigma    = 365.3 
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 0.5155 ±Constant = 4.674 
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 3.553 ±Constant = 32.82 
 4.585 ±Mean     =  1667 
 3.242 ±Sigma    = 51.87 
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 3.242 ±Sigma    = 51.87 
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